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. Find the H.C.F. of (X2 —4x—12) and (x% —6x—16)

(i) (2x=6) (i) (x+2) (i) (x=6) (iv) (2x+2) (v) (x—8)

. Factorize (6)(+5y)2 — 2(6x+5y)(4x+2y) + (4)(+2y)2

() (=x=31)2 (i) (2x+31)2 (i) (6x+5))(4x+2)) (iv) (10x+71)° (v) (3x+3))°

. Factorize (ax+ by) 2 (ax— by) 2

() 4axby (i) 2(ax)2(by)2 (i) 4(ax)2(by)2 (iv) 2axby

. Factorize(16a2—16b2)
(i) (=4a—-7b)(—4a+b) (i) (—4a—-b)(—4a+7b) (iii) (—-5a—4b)(—5a+4b) (iv) (—4a—4b)(—4a+4b)
(v) (=3a—-4b)(—3a+4b)

. Factorize a2 - b2 - c2 —2bc
(i) (a—b—=c)(a+b-c) (ii) (a+b+c)(a—b+c) (i) (a+b+c)(a+b-c) (V) (a—b-c)(a—b+c)

(V) (a—b-c)(a+b+0c)

. Factorize (X2 —16x+63)

(i) (x=7)(=x=9) (i) (x=7)(x=9) (i) (x=7)(=9) (iv) (x=7)(3x=9) (v) (x=7)(2x-9)

. Which of the following are true?

a) Degree of zero polynomial is zero
2. .
b) mr~is a monomial

c) A binomial has two and only two terms
d) Every polynomial is a binomial
e) A binomial may have degree 3

(i) {a,b} (i) {a,b,c} (i) {a,d,e} (iv) {b,c,e} (v) {d,c}

. Factorize(28x2+18Xy+2y2)
(i) (4x+2y)(4x—=2y) (i) (4x=2y)(Tx—y) (i) (4x+2y)(Tx+y) (V) (4x=2y)(Tx+y)
(V) (4x+2y) (Tx—y)

. Factorize( x2 +8x+7)

(M) (x+7)(x=1) (i) (x=7)(x=1) (i) (x=7)(x+1) (V) (x+7)(x+1)



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Factorize (21a2 b+42 ab2 )

(i) 7ab(-3a-6b) (i) 7ab(3a—-6b)

Factorize (10xy+ 8y2 )

(i) 7b(3a—-6b)

(iv) 7ab(3a+6b)

(V) 7a(3a+6b)

(i) 2x(5x+4y) (i) 2y (5x—=4y) (i) 2y (=5x—4y) (iv) 2x(5x—4y) (V) 2y (5x+4y)

Factorize(2x3 + 30)(2 +54x—-486)

(i) (x+9)9(x—-6) (ii)

(x+9)(=2x+9)(-06)

(v) (x+9)(x+9)(2x—-6)

Factorize (8x2—10xy—12)?)

(iii)

(x+9)(2x+9)(3x-6)

(iv) (x+9)(4x+9)(4x-6)

(i) (4x=3y)(2x—4y) (i) (4x+3y)(4x+3y) (i) (4x+3y)(2x—4y) (V) (4x+3y) (2x+4Yy)

(V) (4x=3y)(2x+4y)

Which of the following is not a factor of3lx5y5z4 ?

(i) 31x222 (i) 31x°p° 2 (i) 31x*)°P A (v) 31x°)*474 (v) 31x°)074

Which of the following is an irreducible factor of4x5yz2 ?

(i) xZ22 (i) y2z (i) ¥*)222 (iv) £y (v) ¥

Find the H.C.F. of22xﬁ and 38x2y

(i) 418x2)3 (i) 2x%y (i) 2x%y (iv) 2xy (v) 2x)3

Factorize ( a2 +4ab+4b2

(i) (a+5b)(a+4b) (i)

)

(a+2b)(a+2b) (iii)

(a—

Which of the following is a factor of()(5 +y322) ?

b)a (iv) 262b (v)

(i y3 (i) 2% (i) y3Z2 (iv) x° (v) no factors

Find the H.C.F. of 170X3yz and 70)(2y323

(2a+2b)(2a+2b)

() 1190x3)323 (i) 10x3yz (i) 10x2y23 (iv) 10x2)3z (v) 10x%yz

Factorize (4x+9y)2 + 2(4x+9y)(2x+3y) + (2)(+3y)2

() (=2x-50)2 (i) (2x+6,)2 (iii) (4x+9)(2x+3)) (V) (Tx+120)° (v) (6x+12y)°

Factorize( 9422 -18ab+9b? )

(i) (3a=3b)(3a-3b)
(v) (3a—b)3a

(i)

(4a—3b)(4a-3b)

(iii)

(2a—-3b)(2a-3b)

(iv)

(3a—6b)(3a-5b)
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Factorize a2C2 - b2 c2 - a2 d2 + b2 d2
(i) (a+ b)(a—b)(c+ d)(c—4d) (i) (a+b)(a—c)(c+d)(c—d) (ii) (a+)(a—c)(b+ d)(b- d)

(iv) (a+ b)(a—b)(b+ d)(c—d) (v) (a+ b)(a—b)(c+ d)(b-d)

Factorize(x2—100)

(i) (x=10) (x=10) (ii) (x+10) (x+10) (i) (x+20)(x=5) (iv) (x=20)(x+5) (V) (x+10)(x—10)

Factorize ( 64 x2 —64y2)

(i) (8x—8y)(8x—8y) (i) (8x+2y)(8x—32y) (iii) (8x+8y)(8x+8y) (iv) (8x+8y)(8x—8y)
(V) (8x—2y)(8x+32y)

Which of the following is not an irreducible factor of ( )(2y+xy2 +xy)?

(i) (x+y+1) (i) xy (i) x (iv) y



Assignment Key

1) (i) 2) (ii) 3) (i) 4) (iv) 5) (v) 6) (ii)
7) (iv) 8) (iii) 9) (iv) 10) (iv) 11) (v) 12) (v)
13) (iii) 14) (v) 15) (v) 16) (iv) 17) (ii) 18) (v)
19) (v) 20) (v) 21) (i) 22) (i) 23) (v) 24) (iv)
25) (ii)
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